RETAN 2RAF E#EPE o1

1. ROAENXEMBT. (S5, Ak14540%, B2 508, C#dsy)

(1) 2 <1 (2) 22 -2 <0

3) 2—r—-6=0 (4) 262 —7x+6<0
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2. ROARFEAXEMT. (S5, Af1740%, B2 50%, C#kds)

(1) z2>9 (2) 22 +4x <0

(3) 224+50—-6=0 (4) 622+ T +2>0
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REFAb 2RFEX EHOHR 01 RE®E

ROALERZMT. (S5, Af1540%, B2 50, C#45y)

* 2 REAFEXE@

AR 01272 X)L C, EUPHRBIRTE2 L EDME (a<fDEE)
(z—a)(x—B)<0 & a<z<p

(zr—a)(x—pB)>0 & z<aXFp<cz

(1) 2 <1 (2) 2 -2 <0
& 22-1<0 < z(x—-2)£0
e (z+1)(z—-1)<0 & 0Szx<2

< —-1<z<1
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3) 22—z-62=0 (4) 222 —-Tz+6<0
< (x+2)(z-3)=0 & (22-3)(z-2)<0
& L 2XF3L 2 =3 %<m<2
WA A= WA RX=
xr X
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2.

RORGERZRT. (S5, AfR1340%, B#25 508, C#k4asy)

* 2 RAERR

AL 0172 K ) ICEHLC, FUDPNENRTE2 L EDRE (a<fDEE)
(@—a)e—B) <0 & a<z<f
(z—a)(x—B)>0 & zz<aXdFp<z

1 2229

&S 22-9>0

< (z4+3)(z—-3)=0

& 2L -3XEF3 =

WA RX—Y

T

(3) 22+5x-6=0

< (x+6)(z—1)=0

& z<-6XF1<2

A RX=Y

(2) 22 +4x <0

(4  622+7x+2>0

< (Bx+2)(2x+1)>0
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